
Order of Operations Nested
Parentheses
Math Worksheet 4

( 3 + 4 ) × ( 9 - 2 ) = ( 58 - ( 9 + 1 ) ) × 2 = 

( 4 + 5 ) × ( 1 - 4 ) = ( 7 + 2 ) × ( 6 - 8 ) = 

( 28 - ( 4 + 2 ) ) × 2 = ( 8 + ( 18 - 7 ) ) × 5 = 

( 66 - ( 1 + 8 ) ) × 2 = ( 4 + 1 ) × ( 9 - 6 ) = 

( 99 - ( 3 + 3 ) ) × 2 = ( 82 - ( 8 + 3 ) ) × 2 = 

( 10 - ( 6 + 1 ) ) × 2 = ( 61 - ( 2 + 3 ) ) × 2 = 

( 78 - ( 3 + 1 ) ) × 2 = ( 5 + 8 ) × ( 9 - 6 ) = 

( 97 - ( 5 + 1 ) ) × 2 = ( 7 + ( 16 - 1 ) ) × 5 = 

Total: 16 Goal: _____ Complete: _____ Correct: _____
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